/—\ Qe ij NmenT 5 SoloTiond§
O MATH 3] :

 Section 6.6

#18 0% a_ . a=9
| 3079 7 Qi zad]

= QCQC“/')’)/ (MCQ-B)
3(ar3) (a-N (o)

= al(o-3)
2la-1)
#22_ H4R*-36 x FR-35
R*-25R 3R*+9R
<= (2R+6 )X(2R-6) 7 (R-5)
 R(R>25)3R(R+3)
= z(ma)z(@«s\:fcg%)/

R (RYEYR-B)3R

s
= 28 (R+3)(R-3)
2R*(RY5)
£ 26 S"-pns*+23 . S Y
S* +3 T 28%+3
N £ ./ . >
= (s*-% )(s>9) . (28743)
S*+3 Sy

= (52 (28+3)
e+




H#30 n>+5n x Zn'- 8
4+ L3i3et- O

I

N A
) FontZntY N n?+3n—| G>

T nonts) . 2ln2)ni2)
3 (012 +2(nt2) n(N+5) Cr\-l>

- V\UﬁfﬁZLn‘ﬁkqﬁﬁ .2
(3n+z\@ﬁohncn/§wwéq ETl

30 w X (762"@ .3-¥
XY X—> |

= 29 -3 (@ﬁtﬂbé"*} ‘ ~ (-3
2o~ AL ) Ot
X4 -2 ‘

= 2>¢bé 33+\L>c 3) (ww\d/@ -3 %3
N

. ,,f

-—(’zx+ﬂbé 2) (v



#38  2MZrum4e . M|
eM=b  5M+5

— ZM"’erzMJrlM__t_?— . Q\/\—H\(Wﬂ

@(Wiﬁ ES(M}t’fj
= 2{MEDF2(mb)
| 30 R _
T @) - 2 Y | e
20 20 \5
Sechon 63
26 =z - 3-¥ |

X+ ey K

= 23 el
X‘\'Z ~XANAZ) X

R

T2 4 ‘:_5_4__,'%) + &L
DY X)) xOez

= "2_’\64")@'% Axt2 — ‘-HC"{

HY T
Y AKD) Y (rz)
29 2 - =
NZrdn+Y NTZ
= 2 - 3D 2;_:__?2&33223
(r+2) (P2 ()"
‘ - 2-—3(\'(0 _ ’BY\J’L\




ZN YN 7N
= N5
2N (N -2—7 — (N —z)
= Nl 5 ()
ZnZ(N-2) SN2 ON 'Z>
= NoLHIONT o e
2nNEUN2) N CN‘"’L>
it 36 _5 _ X L2y
7N G SRy S S Y i s
- ”‘5‘{‘" — %y —(¥-2)
B (’LX '3)C‘H> xz.(xz_D CZ_——F- D [+ \)
(=D GE) el @y D WH)
] . B S T er L»H—-\)
~ (2D D) X cwrmxf\) m Y



©
= K (Y | |
'5 WI)Z — (zy*l? — X 2DO-1)
X (2x-DOC-1) X2y A=) X (2= (x*=1)
= B¥+5 -2x +| — 76(762—3%4'2)
X eA=DEED

X rEN- % +6
RAEAINE SR

("

$472 V=9
\V4
o
.\/ | 3
= (\/+33@~3> 43D v-3)
vV = AV
2 N -V
3V 3V XY

T
v G-V |
G L 3 (yaR)
— (¥3) |




1

(l

-
-
A
v
P ¥
L)
-
. s
,
- Fd
7 !
Vs
e H

e —

Pl




o = “7"{ B L%i—qla -t "‘l——\ _L\Zi—*b\)
L—loj"’-wbl ) % | q@;—""bﬂ T
= ‘ZUQCOV@ _ (!')(0;360»'-5)__ 35\,
Yo Ca-b) Y o Co—b) Yoo~ b)
b e

Hbla*b) T (o> b

= % (a-b) — C‘v“*"@ B 3&“.

‘-\&,LCL—@
b — %Cof-—bZ)
Gl Cou™b7) |
= %CQ bd=a Co-b) -3ow CC“*MCO/@
%&Cgfg lo - 2(ar ‘b)

= (0-b)(8-0) ~3o-
oo (b-8e™RTY)




# 16 J_______,_: 2
TP 37 L= 2
2 ___R_ -4
GR 6R T CR
3-2R =Y
v-—l
&:“\/7_
#20 5 . 2
N oz

Fr= G
n=6/q
¥22 2, . 5
Heme 23
= +A.L-;~“5__
e Y (23
227 4 (23 | g
A2 T Sy QGax-3)
© + 2¥-2 =20



- 5

-
t+3 t  2t+06
. 5

| uE =
++3 £ | 'ZCH3> |

eonsman

2@t _ o) | st
(++3)T (1) fz_-;LUcB\ 24:(H3>

(DJE ~ 2(k43) = 5T
LL -2t —6 = 5C

4t -6 =5t
t=-0
#30 = _ 2 _ |
| X=1 X |
2 20 r)U |
(D) @CH)QL-J) Cern 1)

2 = 2000) =%t
2 -2y 42 -=><+|

3¥

X

Il [l

1



S E:C‘;T'\CN =

G X*- v +30=0
(X =5 )= 0

F2H Ux 425 = 20y
MY -20y 425 e

"Q%Hﬂoxwmi+2520'
2yﬁiqr5)-5(2%’§>=<3
(zx-5)(2y-5)=C

2y—5=0
2y =5
= 5

: rﬁ#fs'or»f' )

g eg¢condg,

- Jinme 18 pogti’uf& S ‘EI\Q /%V\g’u,uz)u 18



